Question: 1

You are suggesting an audio codec for your client. The client has a high-speed network, but will be
communicating with a counterpart in a different location that has only a 128-kb/s connection. Which
protocol would you expect the codec to negotiate?

Select exactly 1 answer(s) from the following:

A.G.728
B. G.722
C. AAC-LD
D.G.711

Answer: C

Question: 2

When you calculate the vertical resolution of a screen with a horizontal resolution of 1920 pixels,
assuming that the screen has an aspect ratio of 16:9, which two calculations are correct? (Choose
two.)

A. (16*9)/1920
B. (16- 1920)/9
C. (9%1920)/16
D. (1620/9)*16
E. (1920/16)*9

Answer: C, D

Question: 3

The FindMeTMapplication on the CiscoTelePresenceVCS allows a call to be routed to which of these
places? Select exactly 1answer(s) from the following:

A. only the office system of the user

B. all unit that are selected in the FindMe Configuration of the user
C. any unit that is configured with the FindMe name of the user.

D. Only the CiscoTelePresenceMovi system of the user.

Answer: C

Question: 4

To calculate the maximum capacity of a CiscoTelePresenceVCS duster, you multiply the number of
registrations and calls of a single CiscoTelePresence which amount?Select exactly 1 answer(s) from
the following:



A. 5 times
B. 2 times
C.6times
D. 4 times

Answer: C




